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I Directions
Choose the correct translation of the forms of the personal pronoun.

1. Clemens officinam Eutychi intravit. Eutychus eum salutavit.
      a. he 
      b. his 
      c. him

2. Helena nos ad cenam invitavit. nos ad villam eius festinavimus.
      a. she 
      b. her 
      c. they

3. Phormio culinam intravit. vilicus eam inspexit.
      a. her 
      b. him 
      c. it

4. Quintus multa templa in urbe vidit. iuvenis ea laudavit.
      a. she 
      b. they 
      c. them

5. Helena diem natalem celebrabat. pater ei gemmam dedit.
      a. she 
      b. they 
      c. to her

II Directions
Select the English sentence that correctly translates the Latin sentence.

6. Aegyptii, extra tabernam stantes, Quintum viderunt.
      a. The Egyptians saw Quintus standing outside of the shop.
      b. The Egyptians, standing outside of the shop, saw Quintus.
      c. The Egyptian, standing outside of the shop, saw Quintus.

7. flumen Nilus, per praedium Barbilli fluens, erat pulcherrimum.
      a. The Nile River, flowing through the estate of Barbillus, is very beautiful.
      b. The Nile River, flowing through the estate of Barbillus, was beautiful.
      c. The Nile River, flowing through the estate of Barbillus, was very beautiful.

8. Phormio medicum, per forum ambulantem, conspexit.
      a. Phormio, walking through the forum, caught sight of the doctor.
      b. Phormio caught sight of the doctor walking through the forum.
      c. The doctor, walking with Phormio, caught sight of the forum.

III Directions
Match the Latin word to the word which means approximately the same.

9. adire
      a. callidus
      b. appropinquare
      c. ignavus
      d. ponere

10. collocare
      a. callidus
      b. appropinquare
      c. ignavus
      d. ponere

11. doctus
      a. callidus
      b. appropinquare
      c. ignavus
      d. ponere

IV Directions
Match the Latin word to its antonym/opposite.

12. _____ doctus

13. _____ crudelis

14. _____ arcessere

15. _____ mors

16. _____ pessimus

            a. benignus
            b. dimittere
            c. optimus
            d. stultus
            e. vita

V Directions
Select the word which correctly defines the underlined word.

17. The astrologer’s arguments were very persuasive.
      a. convincing
      b. interesting 
      c. amusing

18. Petro’s prognosis was uncharacteristically pessimistic.
      a. gloomy 
      b. annoying 
      c. positive

19. The astrologer did not want to relinquish his influence over Barbillus.
      a. enjoy 
      b. give up 
      c. share

VI Directions
Based on the pictures, select the correct form of the present participle to complete the sentences.

20. 
[image: image1]
      a. portans 
      b. portantem 
      c. portantes

21. 
[image: image2]
      a. stans 
      b. stantem 
      c. stantes

22. 
[image: image3]
      a. irrumpens 
      b. irrumpentem 
      c. irrumpentes

23. 
[image: image4]
      a. recumbens 
      b. recumbentem 
      c. recumbentes

24. 
[image: image5]
      a. currens 
      b. currentem 
      c. currentes

VII Directions
Select the word that most correctly completes the following grammar/structure items: in media officina Eutychum vinum bibentem vidimus.

25. Identify the participle in the sentence.
      a. media 
      b. vinum 
      c. bibentem

26. Identify the word the participle modifies.
      a. officina 
      b. Eutychum 
      c. vinum

27. Identify the number of the participle.
      a. singular 
      b. plural

VIII Directions
Name the Alexandrian scientist associated with the device or experiment found in each picture.

28. 
[image: image6]
      a. Hero 
      b. Hippocrates 
      c. Euclid 
      d. Eratosthenes

29. 
[image: image7]
      a. Copernicus
      b. Eratosthenes 
      c. Aristarchus 
      d. Ptolemy

IX Directions
Match the definition to the scientist.

30. _____ Hippocrates

31. _____ Copernicus

32. _____ Eratosthenes

33. _____ Euclid

34. _____ Herophilus

            a. was the Alexandrian mathematician known for his work, Elements.
            b. was the father of medical science.
            c. was the Greek who calculated the circumference of the Earth.
            d. was the most famous Alexandrian anatomist.
            e. was the Renaissance scientist who “rediscovered” that the Earth circled the Sun.

X Directions
Indicate whether the following culture statements are true or false by selecting a for true or b for false.

35. The Roman contribution to health was in the field of public sanitation.
      a. true
      b. false

36. The Egyptians believed in studying only the outside of the body to search for the causes of disease.
      a. true
      b. false

37. The Greeks were very fond of dissecting a body for medical study.
      a. true
      b. false

38. The most important part of Alexandrian medicine was the stress it placed on hygiene, diet, exercise, and bathing.
      a. true
      b. false

39. Some very successful treatments were the juice of the wild poppy to relieve pain and the use of unwashed wool to help with swelling.
      a. true
      b. false

40. Astronomy originated at the university in Alexandria.
      a. true
      b. false

41. Major improvements over the quality of ancient medicine came about only 150 years ago in Europe.
      a. true
      b. false

42. The Hippocratic Oath makes inventors swear to a high standard of conduct.
      a. true
      b. false

43. The doctor’s use of cobwebs on Barbillus’ wound was a totally useless procedure.
      a. true
      b. false

XI Directions
Match the definitions to the English derivatives.

44. _____ auricle

45. _____ artifact

            a. external part of the ear
            b. object made by human hands



